Homework 5

Due: April 9

CS 345

Part 1.  Modify your code from homework 4 to generate moves for singlemen and kings for both colors.  Your primary function should have an interface something like this:

          function findmoves (player: boolean; b: board): statelist;

Note:

  1) a noncapturing move is illegal if a capturing move is possible.  (I interpret this to mean that one can not “stop short” of a capture either.

  2)  a singleman that advances to the last rank must be “kinged”.

I will provide you with my version of this code for your use.  (If you were unable to complete the last assignment, or are having other trouble, you may use my code.)

Part 2.  Write a function that calculates a good move by searching the tree of possible move results.   The procedure that encapsulates your work should have this interface:

         procedure evalboard(var b:board; var value: integer;

                                           player: boolean; depth,width: integer;

                                          var best: board; var done: boolean;

                                          debug: boolean);

where

b is the board to be evaluated

value is the estimated value of board (higher -> better red position)

player holds when the red player is next

depth is the maximum number of levels to search

width is the maximum number of children of a node

best is the best move found

done holds when there is no move returned

debug causes the routine to print information that allows the user to follow the computation

Note:

  1) This is a minimax search, as we discussed in class.  

  2) The depth=0 evaluation is 2*redkings + red – 2*blackkings – black

  3) If there is more possible moves than width, follow only the most promising as determined by a          depth=0 estimate of the moves.

  4) A player loses if he has no move.  Set the value of the board accordingly.

  5) done will be set iff depth=0 or there is no move for current player

Turn in a listing and a simple example of  running your code where the result is different depending on the depth used.  Send me via e-mail your code and your example.

Good luck!

